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Some students will say you should use V= —Qgh = . That multiplies the above
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answers by 1.00005, which is clearly negligible compared to the uncertainties introduced
by the standard Torricelli's assumptions.
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This is the same as Ex. 5.5, with different fluids.
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The negative value of the friction heating makes clear that the assumed direction of the
flow is incorrect, and that the flow is from right to left.
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5.41 This is simplest by trial and error. First we guess that 1),/ I = 0.5. Then
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This done by Excel as explained in the Excel file given in e learning
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where ¢ and b are constants.

dh —A_J2gh
—= D —Au2e], dr—i —+b| ﬂm
dt a+bh
.'a:.’r
a b 2
At= ZJhs=h?
"4'nul| —1 E
2 2 o
1 50 fi? 2.5 fi
= i J20 1t + (20 n}z =743

b | e |

M| 1
1&1!& 224| 3



